2+5=2xX

—

— | D~

— | <t

— 0 ul



a | b~

<f |~




— e

b~ |00

3 4
3= 1-
© ) © 9

1
4=
©3

Q@ 2



4.

o RS sHAL.

1=
® 16




W& SHA 2.

A

e B4 e

5.




= oL,

ohe H40] Uil

6.

o b=

© |~




= SHA 2.

ohe H40] Uil

7.

1
2

® 14

@ 14

12 13

11



= oL,

ohe H40] Uil

8.







o T e N i
geb L8 L4 Bl ol el gt He mw 2 A}

ER I R

YEE A



—ax[-[]

4+




12, o3& <H7]>ob gol AXtgr [ |¢te] duke 5 AR

MO L,

<H7]>

1
4+ -=4x2=
3 X 8

G—ﬁ—ﬁxD []



sx[J-[]

1
5+ —
9







A

30
54741

1
1-+3

2

15.

57m

[Ael e



WOVt o m? Q] A7 mope)] Folsh giuirt. o] Folel ket

o2 metE A2 E 2 melu7?
@%m @gm @%m @%m @gm



BK
ol

o

mA A
A Ay el 3 ghok

— <

A7



18.

29 HeAle sk L.




©
2 ©® 10 @ 4

@ 2



20. E]-O =1

VT

o theAle v &




21. o

O " A
= T

o U Ale a4,







23. the B5el AL S L.




E_AE
H__4
Q_z
€]~

1
2

1
5-+10= =

4




o] ZH& A7} 180 km



